BASE E	BID:			Pavemer	nt Coatings	O'Grady	y Paving
ITEM NO	ITEM DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
1.	Traffic Control	L.S.	1	\$302,360.53	\$302,360.53	\$550,000.00	\$550,000.00
2.	Changeable Message Board Signs	Ea.	4	\$3,207.26	\$12,829.04	\$5,000.00	\$20,000.00
3.	Adjust Storm Manhole to Grade	Ea.	88	\$973.63	\$85,679.44	\$1,000.00	\$88,000.00
4.	Adjust Sanitary Sewer Manhole to Grade	Ea.	88	\$973.63	\$85,679.44	\$1,000.00	\$88,000.00
5.	Adjust Survey Monument Cover to Grade	Ea.	88	\$801.82	\$70,560.16	\$500.00	\$44,000.00
6.	Adjust Water Valve Cover to Grade	Ea.	88	\$744.54	\$65,519.52	\$500.00	\$44,000.00
7.	Adjust Gas Valve to Grade	Ea.	5	\$744.54	\$3,722.70	\$500.00	\$2,500.00
8.	Adjust Water Meter Box to Grade	Ea.	3	\$744.54	\$2,233.62	\$500.00	\$1,500.00
9.	Adjust Detector Cover to Grade (Revocable)	Ea.	1	\$744.54	\$744.54	\$500.00	\$500.00
10.	Adjust Vault to Grade (Revocable)	Ea.	1	\$2,863.63	\$2,863.63	\$2,500.00	\$2,500.00
11.	Adjust Telephone Manhole to Grade (Revocable)	Ea.	1	\$1,718.17	\$1,718.17	\$2,500.00	\$2,500.00
12.	Replace Existing Grate with New Reticuline Grate	Ea.	8	\$5,727.25	\$45,818.00	\$1,200.00	\$9,600.00
13.	Remove and Replace HMA Ring (2" Depth)- Manhole	Ea.	10	\$343.63	\$3,436.30	\$500.00	\$5,000.00
14.	Remove and Replace HMA Ring (2" Depth)- Monument	Ea.	10	\$286.37	\$2,863.70	\$500.00	\$5,000.00
15.	Hot Mix Asphalt Leveling Course	Ton	2,000	\$223.36	\$446,720.00	\$215.00	\$430,000.00
16.	4" Depth Digouts	S.F.	35,000	\$8.02	\$280,700.00	\$8.25	\$288,750.00
17.	Asphalt Crack Sealing	L.S.	1	\$98,826.23	\$98,826.23	\$150,000.00	\$150,000.00
18.	Asphalt Rubber Cape Seal	S.Y.	82,000	\$8.19	\$671,580.00	\$5.00	\$410,000.00
19.	Slurry Seal (Black Aggregate)	S.Y.	70,000	\$2.92	\$204,400.00	\$5.00	\$350,000.00
20.	4' Wedge Grind	L.F.	2,500	\$4.58	\$11,450.00	\$15.00	\$37,500.00
21.	Pavement Marker and Striping Removal	L.S.	1	\$57,272.53	\$57,272.53	\$55,000.00	\$55,000.00
22.	Detail 1 Striping-Thermoplastic	L.F.	1,420	\$1.20	\$1,704.00	\$1.15	\$1,633.00
23.	Detail 9 Striping-Thermoplastic	L.F.	300	\$1.26	\$378.00	\$1.20	\$360.00

ATTACHMENT 2

24.	Detail 22 Striping-Thermoplastic	L.F.	2,600	\$2.86	\$7,436.00	\$2.75	\$7,150.00
25.	Detail 25 Striping-Thermoplastic	L.F.	1,970	\$1.43	\$2,817.10	\$1.40	\$2,758.00
26.	Detail 27B Striping-Thermoplastic	L.F.	3,900	\$1.37	\$5,343.00	\$1.30	\$5,070.00
27.	Detail 29 Striping-Thermoplastic	L.F.	130	\$5.73	\$744.90	\$6.00	\$780.00
28.	Detail 32 Striping-Thermoplastic	L.F.	1,110	\$5.38	\$5,971.80	\$5.00	\$5,550.00
29.	Detail 38 Striping-Thermoplastic	L.F.	450	\$2.00	\$900.00	\$2.00	\$900.00
30.	Detail 38A Striping-Thermoplastic	L.F.	130	\$1.72	\$223.60	\$2.00	\$260.00
31.	Detail 39 Striping-Thermoplastic	L.F.	5,780	\$1.37	\$7,918.60	\$1.30	\$7,514.00
32.	Detail 39A Striping-Thermoplastic	L.F.	3,490	\$1.37	\$4,781.30	\$1.30	\$4,537.00
33.	12" Limit Line (Stop Line) (White)- Thermoplastic	L.F.	2,600	\$9.16	\$23,816.00	\$9.00	\$23,400.00
34.	12" Line (Yellow)-Thermoplastic	L.F.	170	\$9.16	\$1,557.20	\$9.00	\$1,530.00
35.	Yield Line-TLG Std. TR-B-Thermoplastic (Revocable)	L.F.	20	\$9.16	\$183.20	\$9.00	\$180.00
36.	Crosswalk (White)-Thermoplastic	L.F.	800	\$18.90	\$15,120.00	\$20.00	\$16,000.00
37.	Crosswalk-TLG Std. TR-I (Yellow)- Thermoplastic	L.F.	850	\$77.89	\$66,206.50	\$70.00	\$59,500.00
38.	4" Hatch (Yellow)-Thermoplastic	L.F.	60	\$3.44	\$206.40	\$4.00	\$240.00
39.	STOP Legend-Thermoplastic	Ea.	49	\$226.80	\$11,113.20	\$220.00	\$10,780.00
40.	SLOW Legend-Thermoplastic	Ea.	2	\$237.11	\$474.22	\$230.00	\$460.00
41.	SCHOOL Legend-Thermoplastic	Ea.	2	\$360.82	\$721.64	\$350.00	\$700.00
42.	XING Legend-Thermoplastic	Ea.	3	\$216.49	\$649.47	\$200.00	\$600.00
43.	PED Legend-Thermoplastic	Ea.	1	\$185.57	\$185.57	\$200.00	\$200.00
44.	20 Legend-Thermoplastic	Ea.	1	\$183.28	\$183.28	\$200.00	\$200.00
45.	25 Legend-Thermoplastic	Ea.	15	\$183.28	\$2,749.20	\$200.00	\$3,000.00
46.	Speed Hump Marking-TLG Std. TR-J- Thermoplastic	Ea.	5	\$2,092.74	\$10,463.70	\$2,000.00	\$10,000.00
47.	Type I Arrow-Thermoplastic	Ea.	2	\$154.64	\$309.28	\$150.00	\$300.00

				BASE BID TOTAL	\$2,825,714.99	BASE BID TOTAL	\$2,943,702.00
63.	Remove Sign Post	Ea.	1	\$200.45	\$200.45	\$200.00	\$200.00
62.	Salvage Sign From Roadside Post/Pole	Ea.	3	\$229.09	\$687.27	\$250.00	\$750.00
61.	Install New Sign on Existing Post	Ea.	4	\$372.27	\$1,489.08	\$400.00	\$1,600.00
60.	Install New Sign and New Post	Ea.	3	\$486.82	\$1,460.46	\$500.00	\$1,500.00
59.	Install Flexible Post	Ea.	50	\$332.18	\$16,609.00	\$300.00	\$15,000.00
58.	Dashed Green Bike Lane-Thermoplastic	L.F.	1,350	\$51.55	\$69,592.50	\$50.00	\$67,500.00
57.	Green Bike Lane-Thermoplastic	L.F.	920	\$45.82	\$42,154.40	\$50.00	\$46,000.00
56.	Green Back Bike Lane Symbol with Arrow Legend-TLG Std. TR-A-Thermoplastic	Ea.	30	\$1,431.81	\$42,954.30	\$1,400.00	\$42,000.00
55.	Blue Reflective Pavement Marker (Revocable)	Ea.	75	\$40.09	\$3,006.75	\$40.00	\$3,000.00
54.	Red Curb	L.F.	1,200	\$6.87	\$8,244.00	\$7.00	\$8,400.00
53.	On-Street Parking "T"-TLG Std. TR-L- Thermoplastic	Ea.	60	\$85.91	\$5,154.60	\$80.00	\$4,800.00
52.	Shared Roadway Bicycle Marking-TLG Std. TR-G-Thermoplastic (Revocable)	Ea.	2	\$240.54	\$481.08	\$300.00	\$600.00
51.	Type VII (L) Arrow-Thermoplastic	Ea.	1	\$463.90	\$463.90	\$500.00	\$500.00
50.	Type VI Arrow (R)-Thermoplastic	Ea.	3	\$432.99	\$1,298.97	\$400.00	\$1,200.00
49.	Type IV (R) Arrow-Thermoplastic	Ea.	10	\$154.64	\$1,546.40	\$150.00	\$1,500.00
48.	Type IV (L) Arrow-Thermoplastic	Ea.	8	\$154.64	\$1,237.12	\$150.00	\$1,200.00

ADD. A	LTERNATE 1:			Pavemer	nt Coatings	O'Grady	/ Paving
ITEM NO	ITEM DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
A1.1.	Adjust Storm Manhole to Grade	Ea.	13	\$973.63	\$12,657.19	\$1,000.00	\$13,000.0
A1.2.	Adjust Sanitary Sewer Manhole to Grade	Ea.	13	\$973.63	\$12,657.19	\$1,000.00	\$13,000.0
A1.3.	Adjust Survey Monument Cover to Grade	Ea.	13	\$801.82	\$10,423.66	\$500.00	\$6,500.0
A1.4.	Adjust Water Valve Cover to Grade	Ea.	13	\$744.54	\$9,679.02	\$500.00	\$6,500.0
A1.5.	Hot Mix Asphalt Leveling Course	Ton	325	\$229.09	\$74,454.25	\$215.00	\$69,875.0

				ADD. ALT. 1 TOTAL	\$285,723.47	ADD. ALT. 1 TOTAL	\$242,821.00
	Blue Reflective Pavement Marker (Revocable)	Ea.	8	\$40.09	\$320.72	\$40.00	\$320.00
A1.11.	STOP Legend - Thermoplastic	Ea.	1	\$226.80	\$226.80	\$220.00	\$220.00
	12" Limit Line (Stop Line) (White) - Thermoplastic	L.F.	28	\$9.16	\$256.48	\$9.00	\$252.00
A1.9.	Detail 22 Striping - Thermoplastic	L.F.	56	\$2.86	\$160.16	\$2.75	\$154.00
A1.8.	4' Wedge Grind	L.F.	2,100	\$4.58	\$9,618.00	\$15.00	\$31,500.00
A1.7.	Asphalt Rubber Cape Seal	S.Y.	17,000	\$8.19	\$139,230.00	\$5.00	\$85,000.00
A1.6.	4" Depth Digouts	S.F.	2,000	\$8.02	\$16,040.00	\$8.25	\$16,500.00

ADD. A	LTERNATE 2:			Pavemer	nt Coatings	O'Grady	y Paving
ITEM NO	ITEM DESCRIPTION	UNIT	EST. QTY.	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
A2.1.	Adjust Storm Manhole to Grade	Ea.	5	\$973.63	\$4,868.15	\$1,000.00	\$5,000.00
A2.2.	Adjust Sanitary Sewer Manhole to Grade	Ea.	5	\$973.63	\$4,868.15	\$1,000.00	\$5,000.00
A2.3.	Adjust Survey Monument Cover to Grade	Ea.	5	\$801.82	\$4,009.10	\$500.00	\$2,500.00
A2.4.	Adjust Water Valve Cover to Grade	Ea.	5	\$744.54	\$3,722.70	\$500.00	\$2,500.00
A2.5.	Adjust Gas Valve to Grade (Revocable)	Ea.	1	\$801.82	\$801.82	\$500.00	\$500.00
A2.6.	Hot Mix Asphalt Leveling Course	Ton	100	\$229.09	\$22,909.00	\$215.00	\$21,500.00
A2.7.	4" Depth Digouts	S.F.	2,200	\$8.02	\$17,644.00	\$8.25	\$18,150.00
A2.8.	Asphalt Rubber Cape Seal	S.Y.	16,000	\$8.19	\$131,040.00	\$5.00	\$80,000.00
A2.9.	Slurry Seal (Black Aggregate)	S.Y.	12,500	\$2.28	\$28,500.00	\$5.00	\$62,500.00
A2.10.	4' Wedge Grind	L.F.	500	\$4.58	\$2,290.00	\$15.00	\$7,500.00
A2.11.	Detail 22 Striping - Thermoplastic	L.F.	166	\$2.86	\$474.76	\$2.75	\$456.50
A2.12.	Detail 27B Striping - Thermoplastic	L.F.	22	\$1.37	\$30.14	\$1.30	\$28.60
A2.13.	12" Limit Line (Stop Line) (White) - Thermoplastic	L.F.	200	\$9.16	\$1,832.00	\$9.00	\$1,800.00
A2.14.	Crosswalk-TLG Std. TR-I (Yellow) - Thermoplastic	L.F.	60	\$77.89	\$4,673.40	\$70.00	\$4,200.00

A2.15.	STOP Legend - Thermoplastic	Ea.	7	\$226.80	\$1,587.60	\$220.00	\$1,540.00
AZIN	Blue Reflective Pavement Marker (Revocable)	Ea.	10	\$40.09	\$400.90	\$40.00	\$400.00
				ADD. ALT. 2 TOTAL	\$229,651.72	ADD. ALT. 2 TOTAL	\$213,575.10

TOTAL \$3,341,090.18 TOTAL \$3,400,098.7
--

This certifies that all bids were received and opened on March 29, 2023 and that this is a copy of the bid tabulation with bids corrected for errors in addition and multiplication. By: J. Chin, Assistant Engineer